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#include <stdio.h>
#include <math.h>

void function(void);
double f(double x);
double g(double x);

[ Ex)DH A */
void function()

it
printf("f(x) = pow(x,2) - 2¥n");
}

/*£(x) */
double f(double x)
{
return pow(x,2) - 2;

}

I ) DERREL */
double g(double x)
{

return 2 * Xx;

}

int main(void)

{
double x;
double new_x;
double eps;
int number, i;
char buf[100];
function(); /¥ f(x)ZF TR */
printf("#HAE : );
fgets(buf, 100, stdin);
sscanf(buf,"%If", &x);
printf("§TEFBE . );
fgets(buf, 100, stdin);
sscanf(buf,"%If", &eps);
printf("#2YiRL LREIE : );
fgets(buf,100,stdin);
sscanf(buf,"%d", &number);

printf("#&Y) R L Bl $¥tnew_x¥¥tf(x)¥t¥tg(x)¥n");
for(i=0 ;i< number ; i++) {
new_x =x - f(x) / g(x);
if(fabs(new_x - x) < eps * fabs(new_x)) {
printf("x = %If¥n",new_x);
break;
}
printf("%2d¥ ¥t %1 ¥t %l ¥t %1¥n" i,new_x,f(x),g(x));
if(fabs(g(x)) < 1.0e-4){
printf("x = %If(Efi#)¥n" ,new_x);
break;
}
X = New_X;
}
if(i == number)
printf("#&Y)RL L B¥n");




f(x

KITHR DB

) =pow(x,2) - 2

WHEAME : 10
FHEFEE $ 0.000001

#@YRL EFR[EI%K : 10

#BYIRLEE new_x

0

1
2
3
4
5
X =

5.100000
2.746078
1.737195
1.444238
1.414526
1.414214
1.414214

f(x)
98.000000
24.010000
5.540947
1.017846
0.085824
0.000883

g(x)
20.000000
10.200000

5.492157
3.474390
2.888476
2.829051

f(x) = pow(x,2) - 2
WIEATE : 100
EHEFEE £ 0.000001
##YURLERE% : 10
#2URLMEZE  new_x

0 50.010000
1 25.024996
2 12.552458
3 6.355895
4 3.335282
5 1.967466
6 1.492001
7 1.416241

8 1.414215
9 1414214
#BYIRL LR

f(x) £(x)
9998.000000  200.000000
2499.000100  100.020000
624.250425  50.049992
155.564203  25.104916

38.397397 12.711789

9.124103 6.670563
1.870921 3.934931

0.226067 2.984002

0.005740 2.832483

0.000004 2.828430




